


1. The population of a village is 10000 at this
moment. It increases by 10% in the first year.

However, in the

second year, due to

immigration, the population dropped by 5%.
Find the population at the end of the third year
if in the third year the population increases by
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Ramesh spends 20% of his monthly income on 2. YHY (U=l AIRIS AT BT 20% /YA T Td U Y

his household expenditure, 15% of the rest on
books, 30% of the rest on clothes and saves the
rest. On counting, he comes to know that he

has finally saved Rs. 9520. Find his monthly

income. ?\)
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than Sushant but 10% less than Rajesh. If the

marks obtained by Sushant is 1080. Find the

percentage marks obtained by Rajesh if the full
marks is 2000. 3 £ O 1

d. None of these ———_
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3. In an examination , Mohit obtained 20% more 3. T® GIIaT H, Hifgd &t quid | 20% 4P a’ﬁ“—l

than Sushant but 10% less than Rajesh. If the
marks obtained by Sushant is 1080. Find the
percentage marks obtained by Rajesh if the full

marksis 2000. 5 £ O | N
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4. Mr. Banarjee is worried about the balance of 4. st =i 3rqa Wify® qolc & Adad @ ferg feifaa 21

his monthly budget. The price of petrol has
increased by 40%.By what percent should he
reduce the consumption of petrol so that he is

able to balance his budget ?
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5. In question 4, if Mr. Banarjee wanted to limit
the increase in his expenditure to 5% on his
basic expenditure on petrol then what should
be the corresponding decrease in consumption

so that expenditure exceeds only by 5% ?
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